Estimate Products

Estimate each product. Round to the greatest place value.

79X 8 = 41 X 6= 86 X 3=
162 X 5 = 3X813= 372X 7 =
41 412 68 751 92
X5 X 8 X7 X 6 X9
338 26 554 83 661
X 4 X2 X 3 X8 X 2
Read and solve.

Danaka and her friends made 5 bead necklaces. They used 188 beads to make each necklace.

About how many beads did they use in all?
A. 1,000 B. 800 c. 900 p. 500

Mrs. Silveira and family bought 6 tickets that cost $88 each for an
amusement park. About how much did the family spend on the tickets?

Answer:
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